= AH O
N = 0 &8 AF S & Al A
2011E T 20A LBHSIH OIS XD ~ OISR &
A FOIMET S
Mz XHA=2X D18 =4
R XA EX ST (e
2N -3 - c2(3H) - NEME - HES Ol & | 0l &K Hns
FOIMET 1,437,300 7,185,446 N5,748,146
= 571,559
o= 103,928
Al 761,813
XAAS 22X Dl =A 718,152 1,992,310 N1,274,158
= 80, 199
< 42,446
Al 595,507
KA 2RSS 292,233 1,523,193 A 1,230,960
= 63,093
< 31,546
Al 197,594
OITHRI RS AL 3,250 3,600 A350
206 2| 3,250 0 3,250
01 &4l 3,250 0 3,250
OXoliol el 828 E 5,000 x50H 7 1,750
OTHOHOITHE! LAIBSE 20,0002 x50 1,000
=S275 8E32| 500,000 » 14! 500
MEIZ2X JIBZHEAS 61,400 74,710 A 13,310
201 Lt AH| 11,400 1,210 10,190
01 AF222|H] 8,100 1,210 6,890
Oyt 1,660
—XYASI 21 HAXE I} 22t
10,0002 1008 1,000
—AISI2X HEg & g2t
10,0002 x22= #352 660
o9+ 6,440
—XYGASI 2R EoAN2Y 394 6,440
HEE2AAM 3o
70,0002 x26 2 *23| 3,640
ALHEOM xS 70,0008 20 23] 2,800
03 AR 3,300 0 3,300
Oplatses 23 A3JS M= 3,300
—2ZA2(ME) 100,000 6% « 13| 600
—2+E 3 5,000 x2502 * 13 1,250
— W et 5,0002 x250 1,250
—Zoi3t= 100, 0002 24 200
301 LEtE A= 50,000 50,000 0
01 AIIBEESE = 50,000 50,000 0
Oy & S8 HASE A2(2,800%)
25,000,000 23] 50,000
S22l 249 90,000 90,000 0
307 GI2t0IH 90,000 90,000 0




SN
NEWCEDSIBIERE 2
£l

X ZH
(=]

IR E SN

NS Atel =X1& 2

SN -EHH . (B) - MPAY - BE2 0 Ak o4 S0 Ak HRE2
02 QlFAE X 90,000 90,000 0
O2% XM 2 PF  90,000,0002 *14! 90,000
S|A=EX12946H 2 4,898 7,001 AN2,103
201 et 4,898 7,001 A2,103
01 At 22l 3,698 4,841 A1,143
OslY=X 12934l L2 3,698
—= A =A2el 330, 000& »1CH*23] 660
—ZelHI| 72 237,000 » 1CH»23 474
—=SAMEX +¢ 20,0003 3 A+12& 720
—JI2ARSEY 100, 00021 x5 500
—gexn S20AY)
7,000& «4H 43| 128 1,344
02 B2 1,200 2,160 960
O23R= 1,200
—5 %= 1292HE M5
50,0002 *2CH 122 1,200
QlaotMyz =& 132,685 124,700 7,985
= 63,093
< 31,546
Al 38,046
101 el H| 122,200 124,700 22,500
= 57,850
= 28,925
Al 35,425
04 JIZHMIZE2XEE = 122,200 124,700 22,500
ORMANEATFESOR U3 22,200
-—=0 1,550,000& x5 123 93,000
= 46,500
& 23,250
Al 23,250
—4UEEZ(5Y) 13,000,000& * 14! 13,000
= 7,750
= 3,875
Al 1,375
— &0l 120,000 x5 128 7,200
= 3,600
& 1,800
Al 1,800
—EN =2 1,800,0002! *5% 9,000
201 et 2,000 0 2,000
= 1,000
& 500
Al 500
01 AtSR22/H] 580 0 580
O2Y4g 580




A FRIMEX A
g NS At=2l=A Jlg &4

ol XHAIS =X B (el )
SNBSS - HRAY - BHES 0 & o4 £/ 5 0f & o HIRZE2
—ABEl 29 BASY 150,000 %23 300
2 150
< 75
Al 75
— AR 2SR BAL
70,0002 %43 280
2 140
= 70
Al 70
03 BAI22Y] 1,420 0 1,420
OPIMOIEHE S/ 25 22 S 7Y
80,0002 *43] 720
2 360
= 180
Al 80
OPIMOIFINE el &M SAH)
7,0002 x252 *43] 700
2 350
& 175
Al 175
301 YsrPAS 8,485 0 8,485
3 4,243
= 2,121
Al 2,121
01 APSI R X253 8,485 0 8,485
OFIINE SEELTY 200,0002 *20& 4,000
3 2,000
= 1,000
Al 1,000
OSII7HE AlMLHT 2 200,0002 *10% 2,000
2 1,000
= 500
Al 500
OBOHFE ZBHIXY 2,485,0002 14! 2,485
2 1,243
= 621
Al 621
SELAAY FA 324,562 368,833 A44,271
= 4,000
Al 320,562
SECH 2EX 287,100 269,250 17,850
= 4,000
Al 283,100
201 Ygreg| 6,500 30,000 23,500
01 AtRZ2lt| 6,500 30,000 £23,500
OSYURBI AYAR I R
5,000 *1,0002 5,000
OSYREB IHE 2W ME 30,0009 50% 1,500




S FOIMERR D
M XeiAEl =R I8 E4
Sl BEMAYAY =X (69 &)
SN EB -GS - MBAY - BES 0 & 24 2| 25 04] & o HRE2
301 YBrEAZ 168,600 146,250 22,350
12 JER A3 168,600 146,250 22,350
OBMRTA HOI4Y 20,0008 %680 128 163,200
OBHRBT ALZZ  150,0002 x3 <128 5,400
307 212+0IH 92,000 83,000 9,000
= 4,000
Al 83,000
01 22272 4,000 4,000 0
OSYRTX ¥ |E 2ASH N
4,000,0002 14! 4,000
= 4,000
02 QIAAMBE 83,000 79,000 9,000
OREHH AR 29|
11,000,000% +87H £+ A 83,000
401 AEHI2L S 20,000 10,000 10,000
01 Al&| 20,000 10,000 10,000
OZBE32 W2+ 20,000, 00021 *14! 20,000
BEHA L RTH AL 35,574 35,380 194
201 YEr2 Yyl 4,510 9,080 A4,570
03 A2 | 4,510 9,080 A4,570
ORIs6s] BEY =HSA 4,510
— ot 1,000,000 %14} 1,000
=T E=(i) 100, 00021 *37H 300
—Z3H(3%) 50,0002 *37H 450
—slste 23t 2,00021+50025 0| 1,000
—#ABEE B 2,00021 *50004 1,000
—AIE FHO YT 90,0002 ¥4 360
—JIEHE, 2.2, 82 S) 400,008 13| 400
301 YLrEAZ 24,064 19,100 4,964
01 At BZ X453 19,400 18,500 900
OMYN U Z2E SYRTX L REAAL
200,000 *258 x23] 10,000
04.1981240]8 RTX L RE AL
200,0002 *2% 400
SEELEL=NESEES G
100,000 *90% 9,000
10 BAEI 243 4,064 0 4,064
OS=2&9 2 JIE 2B XA 3,264
— 24l 15,0002 +30% *22 900
— ey 30,0002 +30% *124 900
~DEH 24,4002 ¥30% %22 1,464




SN FUMSXAD
H: NAMI=X JIP x4
Celr 2EEAUAY X=X (chel:®E)
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Z S0 &k HusZ
OBZEY ZEMA 2% S 24
10,0002 x50 * 13| 500
OBZY =G S5 24
10,0009 %30 * 13| 300
12 JIEt2 A2 600 600 0
Os=28E0 ¢ 2SN BRI M
50,0008 « 1224 »13] 600
307 2I12+0| & 7,000 7,200 200
04 RIFSHAE X 7,000 7,200 A200
OEY FH#AH| 7,000,000 * 14! 7.000
sz 2 oogg 22 1,888 64,203 62,315
201 Yure gy 1,888 1,703 185
01 AtRZ2lH| 1,888 1,703 185
O gt 1,888
—HE2Y 2ABE 7Y 395
MY BBH BE F22(1002)
1,95021 10024 195
- HATH TY(AIR S 4B)
200,000 * 14! 200
—HEZY, FHSA JIEE YA D
22 7 433
Mgz 2 (2500) 13,5002 * 1074 135
CHESHEIN(XDINESE) PY
15,5003 *54 78
TOs(EYz) 7 2200002« 174 220
-EZY Y FHIIEEY B3 7Y
70,0002 *47H <274 2 560
-8z Y 500, 0002 * 14! 500
TAZA 29 2435 101,357 100,284 1,073
= 17,106
S 6.900
Al 77,351
THASAR 2EH2(2H) X 3,744 3,744 0
2 1,872
Al 1,872
201 Yure gyl 3,744 3,744 0
= 1,872
Al 1,872
01 Atz 3.744 3,744 0
O SAR S (ZH)2(1,455%)
3,744,00021 +14! 3,744
2 1,872
Al 1,872
K= A 2CIUIOIE X 36,080 39,468 13,388
= 15,234




A FRIMEX A
g NS At=2l=A Jlg &4

el XEA 29 245 (cte: &
2N -3 - c2(3H) - NEME - HES Off Ak oH | S0l AFH Hon=s2t
Al 20,846
301 LertE A= 36,080 39,468 A3,388
=2 15,234
Al 20,846
12 JIEtB A= 36,080 39,468 A3,388
OXLE2A BUUIOIE KIRAS (2H)
30,468,0002 14! 30,468
= 15,234
Al 15,234
O4UEE a2 3,128,000 *1 Al 3,128
O2CIUIOIH EIRZ=H2 2,484,000 *1 Al 2,484
5-18 3% X 1,200 1,200 0
[= 1,200
206 W24l 480 480 0
[= 480
01 X2t 480 480 0
O5.18JIAFE R0l 2L HSHI(1MT)
480,000 * 14! 480
[= 480
301 Yt A2 720 720 0
[= 720
10 BHALAHIE &S 720 720 0
O5.18IAIE 20| 29 NASAIX 2AH(1H)
120, 0002 * 1 Al 120
[= 120
O5.18ELRE0 29 (1Y) 600,000 * 14l 600
[~ 600
ANE2A A5 R (BX) 12,000 12,000 0
[~ 3,600
Al 8,400
206 W24l 9,840 7,680 2,160
(= 2,952
Al 6,888
01 XH2H] 9,840 7,680 2,160
OL-SHO MHEIA HESHI(20MICH)
3,600,0002 x4l 3,600
[~ 1,080
Al 2,520
OSAME JIIAMEZ 20| HEHI(20MICH)
6,240,000 *1 Al 6,240
< 1,872
Al 4,368
301 LBt A2 2,160 4,320 A2,160
[= 648
Al 1,512
10 BAIAHIE A2 2,160 4,320 A2,160




A FRIMEX A
g NS At=2l=A Jlg &4

ool NASA 2% 245 (ol &2
A -3 -H2A(SH) - HEAMY - BES Off Ak OH Z| & 0l A H Hlns2t
OL-SH0l AHIA L A0 ES4H
2,160,000 * 14! 2,160
[ 648
Al 1,512
NASA 243 XA 44,133 39,672 4,461
201 LErR2YH| 19,684 10,885 8,799
01 AFR22/Hl 5,164 6,894 A1,730
OFI-IE=2a]] 3,664
—=A| |X2e 350,000« 1CH* 18] 350
—Z2IE JIECIX P 237,0002 *10H*23] 474
— QARSI EHRY 110,000 *1CH*23] 220
—=ZA2X 20,0002 32t A x 128 720
—E2g Zody J 4002 *1,000% 400
—XESA 252 HEY 50,0002 *53] 250
—NEEANES M 3,0002 x100H 300
—EOIJIWA OISAN HXP2Y
5,000 *100H 500
—EOIJIUE AEIH MHF 1,000 * 100 100
-4 UAZAR B2 2
35,0004 *10H 350
o=l 1,500
—NEASA 255 2 (2,2
30,0002 *50H 1,500
02 324l 2,700 2,671 29
03222 ¢ MAl 1,500
—UBREHZ 25021 x10024 * 12 300
—UBtNE 3 50,0002 «2CH* 12 1,200
OXAZSAME &3l 100,000 *12& 1,200
03 Al2HHI 11,820 1,320 10,500
OXNLESAR WS ZAISE 1,320
—2AE0012) 70,0002 x3% 43 840
— WS - 34 40,0002 *3 43 480
OXSAR F3E K= 6,000,000 14! 6,000
OX S AR HTX AE 4,500,000 * 14! 4,500
206 X2 HI 11,200 6,378 4,822
01 MYl 11,200 6,378 4,822
OMZo D= 22)| HaTPY
2,700,000 * 14! 2,700
OMZQ 2AXEUs M2 4,500,000 * 14! 4,500
O EASH &= HEH 1,000
—ARE FU (Y, BTN =& S)
1,000,000 14! 1,000
OAMZO &2l ME 7 3,000,000 *14! 3,000
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Sl HRESA 2 2435 (69 @ g

SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Z S0 &k HusZ
301 YerE A 13,249 22,409 19,160
10 BAMAHIZAS 12,749 21,909 19,160
ONESAR NEEA SA
7,000 ¥300% »23] 4,200
ORI SAIR SSAHI(S4, DSH|)
10,0002 *300% 3,000
OAMZCl D= 24| HSAR SSa|
10,0002 * 152 102 1,500
ORI ZAE L =3, FT4 EIIX Ol
88,3002 x30% 2,649
ORI SARE 202t5] SAHI 7,008 *50% *43] 1,400
12 DB A3 500 500 0
OSP4T SAR L MHFSAZS 27 S2X
50,0002+ 102 *13] 500
NsY, JlsY NHSAEH X 4,200 4,200 0
= 2,100
Al 2,100
206 T2 H| 4,200 3,500 700
= 2,100
Al 2,100
01 MEH 4,200 3,500 700
OFHESNSAMH 2S5 W2
4,200,000 *14! 4,200
= 2,100
Al 2,100
2L ZMEEFO Y 626,324 721,000 194,676
= 491,360
= 61,482
Al 73,482
2L EMEEIAY 626,324 721,000 194,676
= 491,360
= 61,482
7 Al 73,482
I EMET 2 12,000 55,272 N43,272
201 Lete gl 12,000 55,272 N43,272
01 At 22l 9,500 50,872 A41,372
OSXIHAR AZA A w2t
2081 +5,0000H 1255 1,200
OSEEXEA B2 ME 5008 +10,00004 5,000
OFQAHIA SBIOHHA M=
3,0008! *22 04 S50 3,300
03 A2 2H 2,500 4,400 A 1,900
OSIMOtH X @ Q120 BLIEZE YTk I 2,500
—% Y EE2 M 1,500,0002! *13] 1,500
S LE 500, 0002 *23] 1,000
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